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Note : Answer the questions as per the instructions given for 
each section. 

Section - A 
(Long Answer Questions) 

Answer any two questions from this section. 	2x20=40 

1. What are the four types of contribution identified by 
Kuznets from the agricultural sector to the overall 
economic development of a country? Mention the 
principal determinants of agricultural development. 

2. What does the term 'Land reforms' basically can note? 
State the economic rationale for 'Land reform'. State 
factors which have hindered the successful 
implementation of land reforms in India. 

3. What are the external inputs on which agriculture 
depends as it develops into a more matured state? How 
does the industry-agricultural linkage influence demand 
to promote farm/rural income? 
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4. What objectives are sought to be served by agricultural 
price policy? What is meant by 'farm-gate price'? How 
does low farm-gate price adversely affect farmers? 

Section - B 

(Medium Answer Questions) 

Answer any four questions from this section. 	4x12=48 

5. Mention the objectives of National Forest Policy, 1952. 
Would you say that the targets for achieving the forest 
cover have been achieved? 

6. State the four components on which the practices of 
sustainable agriculture rests. Mention four advantages 
of 'conjunctive use of water'. 

7. Mention the five different ways by which capital 
formation in agriculture helps production. State some 
ways in which capital formation in agriculture can 
increase the prospects for agriculture exports. 

8. How is 'Marketed surplus' different from 'Marketable 
surplus'? What is the implication of 'Marketed surplus' 
for the nation and what major factors influence it? 

9. How have cooperatives contributed to the Green 
Revolution in India? In which particular sector the 
cooperatives success has been particularly laudable? 

10. State the reasons why the implementation of WTO 
commitments has not progressed much on international 
trade in agriculture so far. 
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Section - C 
(Short Answer QueStions) 

Answer any two parts from this section. 	 2x6=12 

11. i) Why is the issue of pricing of irrigation water 
important? 

ii) Mention the five major institutions set up by the 
government to promote rural industries in India. 

iii) What is the fundamental difference between the GR 
and the GM approaches? 

iv) What are the five main greenhouse gases (GHGs)? 
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